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Participant Name

Test Center Name Shiva Infotech
Test Date 17/02/2021

Test Time 3:00 PM - 4:30 PM
Subject NTPC

* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.
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Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 4 ID
Status

94891115050
94891160199
94891160197
94891160200

: 94891160198
: Answered
Chosen Option :

3

e




Q2 4247 + 1240 F AT & THE F TUH W A T HoR A FISC, T n TH QO FE=; F

Ans x14

v 20
X3 8
X4 2
Question ID : 94891115013
Option 11D : 94891160051
Option 2 ID : 94891160049
Option 31D : 94891160052
Option 4 1D : 94891160050
Status : Answered
Chosen Option : 2
Q.3 ol awg # 15% 3R 12% # FAPE g G &= T of 10% A WoF g TG F S T
#R FU AEw # HUE A R
Ans  of1.25 : 17
<290 : 73
X3 2
X 4110 : 73
Question ID : 94891115019
Option 11D : 94891160075
Option 21D : 94891160073
Option 31D : 94891160076
Option 4 1D : 94891160074
Status : Answered
Chosen Option: 1
Q4 &, wert AR wEiRdt i FEEdl & e s g @ @i qu e fva ot ve da 1 R
Tl aTell fawaTdr 994t (downslope winds) @I 4T gl ST &2
Ans ’ ¢ . .
v 1. 3ITET 99+ (Katabatic winds)
X 2 ARG 99« (Anabatic winds)
X 3 HH 99« (Samoon winds)
X 4 oTHATE & (Shamal winds)
Question ID : 94891115053
Option 11D : 94891160212
Option 21D : 94891160211
Option 31D : 94891160210
Option 4 1D : 94891160209
Status : Answered
Chosen Option: 1




% 100 fr=ew (nibbles) fae & suat 29 2

ans 1. 200
X2 512
< 3 256
v 4 400
Question ID : 94891115068
Option 11D : 94891160269
Option 21D : 94891160272
Option 31D : 94891160271
Option 4 1D : 94891160270
Status : Answered
Chosen Option : 4
Q6 ofy x3-9x2 +26x-24 = 0%, 5t Bt § Ry 7w x F 71 § & FiT O TH0T F7 9T g
grem?
Ans x 1. 3
X2 2
v 1
X4 4
Question ID : 94891115026
Option 11D : 94891160102
Option 2 ID : 94891160103
Option 31D : 94891160104
Option 41D : 94891160101
Status : Answered
Chosen Option : 3




Q7 g = A B CDINEwAHusd @i = d v A A P, 9T Q 7T R, @ig S 3w
o T # @ 5l v w1z &1 ey, T, ahe, e 3 e T # @ o ey O R 96g &,

AR 39T BT 710 A & g HETF T4 2

a) A @ FTer 7 & F TEE &, ofde §5 T & FT I8 74§
b) D @ feat &1 &1 ®R THg 78 31 3 915 S H FX 9w 2
c) E & &5 R 3T 518 T & &1 986 =&t &1

d) C & sz R & 7l 7 1 1 T6

e) 378 ¥ T & §5 Q F Heaw 77 & I 96 B

f) B # ¥he FN TS B
8 T 5 9 Q Fr w7 98 7

Ans x 1. B
<2 A
KX3D
v i E
Question ID : 94891115087
Option 11D : 94891160346
Option 2 ID : 94891160345
Option 31D : 94891160347
Option 4 ID : 94891160348
Status : Answered
Chosen Option : 4
Q.8 - £
IfE 8 = 30° &, ar sinbcosd T AT AT HITT|
Ans
R E
6
« 2. E
<
3
p R
8
X 4 @
2
Question ID : 94891115028
Option 11D : 94891160111
Option 21D : 94891160110
Option 31D : 94891160112
Option 41D : 94891160109
Status : Answered
Chosen Option : 2




W fr v T @ 9NET 20 cm &, S TEET SEwe AT ST

Ans
<1400 ecm?
V' 2 25 cm?
#3100 cm?
<420 em?
Question ID : 94891115024
Option 11D : 94891160093
Option 2 1D : 94891160095
Option 31D : 94891160094
Option 4 1D : 94891160096
Status : Answered
Chosen Option : 2
Q10 Pr=fafga F ¥ #i7 @ 3v9E 9RAT e T, FAR @R F=fa B ar
Ans
X 1. eI -12r (IRS-1D)
W 2 ST
L | 9
X 3 Jfgolr
X 4 STERT
Question ID : 94891115061
Option 11D : 94891160244
Option 2 ID : 94891160242
Option 31D : 94891160241
Option 4 ID : 94891160243
Status : Answered
Chosen Option: 1
Q.11 : :
T H RIS Tl &1 3 Thaer ax g3 g7
ans X1 e
v ar
X3 TH
4 =T
Question ID : 94891115035
Option 11D : 94891160139
Option 21D : 94891160138
Option 31D : 94891160137
Option 4 1D : 94891160140
Status : Answered
Chosen Option : 2




2 yor 1 Y (RCF) 9o & fFg gy & fog ¥

Ans x -
1. gfssT
2. LT
X 5. T
< 4 JHAE
Question ID : 94891115072
Option 11D : 94891160287
Option 21D : 94891160286
Option 31D : 94891160285
Option 4 1D : 94891160288
Status : Answered
Chosen Option : 2
Q.13 zfy 39 wHTE IF (MS Word) F ‘Ctrl + A’ Fiea &1 waier oy &, 77 319 7 3y &7 900 T @
g §2
e XK e /g e
X 2 TFEE 9T FLAT
V3 BEaT H n’laﬁa Fq“ﬂ'f CFET T Holge FLAT
& - w
X 4 HES A AlSg YUY THREE FT HAT A
Question ID : 94891115066
Option 11D : 94891160263
Option 21D : 94891160264
Option 31D : 94891160262
Option 41D : 94891160261
Status : Answered
Chosen Option : 3
Q14 53 fwe &1 =a= Y, Swe 9 weg & T8 T E, S TEA e T gEC qeg @ &
SEe ;O ? AT
Ans « A
| gAfET
X 2 &l
3.
X3 T
X o THA
Question ID : 94891115097
Option 11D : 94891160388
Option 21D : 94891160386
Option 31D : 94891160385
Option 4 1D : 94891160387
Status : Answered

Chosen Option :

1




1 Iy e 48 (NH 48) & ¥R %

VR ® A
X2 e & deqmere
X 3 fEEer & Frerehar
X o e @ TEmEd

Question ID : 94891115071
Option 11D : 94891160281
Option 21D : 94891160283
Option 31D : 94891160282
Option 4 1D : 94891160284
Status : Answered
Chosen Option : 2
Q.16 v FaeET- 51T F7 FOT 18V3 cm B I &7 85Fd AT ST
= =
Ans
X1 268 cm?
X 2 324 cm?
<3 486 cm?
v 4 243 cm?
Question ID : 94891115027
Option 11D : 94891160105
Option 2 1D : 94891160108
Option 31D : 94891160106
Option 4 ID : 94891160107
Status : Answered
Chosen Option : 4
Q.17 v Rftrz xz amor &, ‘PINTEREST &' ‘LEJPANAOP’ for@m =mar ¥, & 33 %z e # VIBER' &7
o g g Feem?
Ans X 1. RXAEN
/< 2 REAXN
v 2 REXAN
< 4 RXEAN
Question ID : 94891115077
Option 11D : 94891160307
Option 2 ID : 94891160308
Option 3 ID : 94891160305
Option 4 ID : 94891160306
Status : Answered
Chosen Option : 3




Q18 Rr v fwet & & AR 77 # 99w FY (FFE AR 5w o F 7% e )

Ans + + -
X 1. FET AT HIHITS HEUH - JgGT

X 2 HET TAS HJAU HEAH - HAA

X o HET AN IgEUE BRI - FEG
v o AT Y AT T FEA - SR

Question ID : 94891115038
Option 11D : 94891160151
Option 21D : 94891160152
Option 31D : 94891160149
Option 4 1D : 94891160150
Status : Answered
Chosen Option : 3
Q.19 4 wr & =
frrafafaa 7 & #iw & vorat Feate & w&fag 22
Ans x 1 é o ﬁ
X 2. ST FT
X 3. geirT g
v 4 gaw ;rp;ﬁj'
Question ID : 94891115036
Option 11D : 94891160141
Option 21D : 94891160143
Option 31D : 94891160144
Option 4 ID : 94891160142
Status : Answered
Chosen Option: 4
Q.20 What is the sum of the two smallest natural numbers, each of the two having exactly seven factors?
Ans  of 1. 793
X 2 625
X 3. 843
X 4 736
Question ID : 94891115012
Option 11D : 94891160047
Option 2 1D : 94891160045
Option 31D : 94891160048
Option 4 ID : 94891160046
Status : Answered
Chosen Option: 3




Q.21 15 iy 25 3 TR FAWEE (LCM) 3R FAgeas FATTIH (HCF) & 06 A1 Hi|

Ans X 1. 225
< 2150
'3 375
X475
Question ID : 94891115008
Option 11D : 94891160031
Option 2 ID : 94891160030
Option 31D : 94891160032
Option 4 1D : 94891160029
Status : Answered
Chosen Option : 3
Q.22 z &
fr=fafte 7 @ o affd-afFe g=fea gag=r g2
Ans .
X 1. ETATE Foadr (INS Kalvari)
v 2 ey #1ET (INS Arihant)
X s amsvaew fEYER (INS Sindhuvir)
X 4 3mEUaTE Ae=r (INS Shalki)
Question ID : 94891115060
Option 11D : 94891160238
Option 2 1D : 94891160240
Option 31D : 94891160237
Option 4 1D : 94891160239
Status : Answered
Chosen Option: 1
Q.23 o, s
I x -y =5 3T xy =15 &, a x° - y° 7 A AT FHSw
Ans o 1. 350
< 2. 250
X 3 -100
X 4125
Question ID : 94891115025
Option 11D : 94891160097
Option 21D : 94891160098
Option 31D : 94891160100
Option 4 1D : 94891160099
Status : Answered

Chosen Option :

1




¥ BIOS T qUT 7 FT §7
Ans "1‘

CiR=ca EoE G IECe & (Basic Input/Qutput System)

52
3f8e saAqe TRfEeT fATeA (Basic Input Operating System)
X 3
F59R ga9e AT f&TeA (Browser Input Operating System)
X 4

ST3e $AYC/AT3TIS T&TeH (Browser Input/Output System)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891115067
94891160265
94891160266
94891160267
94891160268
Answered

1

Q.25 wF vl & 10% T Tgfe o & T § 2 39 F v TERT = W Fawe 21,815 9

gar ¥ aw & RRE geve wa ffvw
Ans X 1.21,550.00
< 2 %1,475.00

X 3 2151250
+ 4 %1,500.00

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891115017
94891160067
94891160066
94891160068
94891160065
Answered

4




Q.26 37 prrEPT 9T # 9T W, S BeAtaied g@er # 9o REa (2) F TS W 37§ ¥

E972D, H324E, K108G, N36J, Q12N, ?

Ans o1 SAT
X< 2 ROT
X< 3 TBS
v 4 T4S
Question ID : 94891115086
Option 11D : 94891160342
Option 2 ID : 94891160343
Option 31D : 94891160344
Option 4 1D : 94891160341
Status : Answered
Chosen Option : 4
Q27 Which statement from the given options is NOT correct?
Ans o 1. Charak was the personal physician of Gautam Buddha.
/< 2. The birth place of Gautam Buddha is in Nepal.
/< 3. Buddhist scriptures were written in Pali.
/< 4 Upagupta influenced Ashoka to embrace Buddhism.
Question ID : 94891115049
Option 11D : 94891160195
Option 21D : 94891160193
Option 31D : 94891160194
Option 4 ID : 94891160196
Status : Answered
Chosen Option: 4
Q.28 ol
el AT, T gsfaa 2
Ans +
X1 T JU
v 2 g Fer
/3 e For
X 4 QT T
Question ID : 94891115047
Option 11D : 94891160188
Option 2 ID : 94891160186
Option 3 ID : 94891160185
Option 41D : 94891160187
Status : Answered
Chosen Option : 2




VY rfafea & @ B Pemses F e § 9gF @4 S 2

A
"X faeT AR
X 2 gegads g wek
Vi S T
4 TR AT
Question ID : 94891115034
Option 11D : 94891160134
Option 2 ID : 94891160136
Option 31D : 94891160133
Option 41D : 94891160135
Status : Answered
Chosen Option : 1
Q'30 4 + &
frrafafea & & 5w g # fomr B =& dar 22
e X wE
v 2 draer
X3 I AT
X4 g A
Question ID : 94891115045
Option 11D : 94891160177
Option 21D : 94891160180
Option 31D : 94891160178
Option 41D : 94891160179
Status : Answered
Chosen Option : 2
Q.31 .
'THT (Tamas) ATHSF 390TH F o9@F HiT 72
Ans . ofsH |TEer
X2 guad g
X 3 HTE AR
X 4 3HAT SaH
Question ID : 94891115040
Option 11D : 94891160159
Option 21D : 94891160158
Option 31D : 94891160157
Option 41D : 94891160160
Status : Answered

Chosen Option :

1




Q.32 11% ot 3T 13% @i X Tl awg & R Hodl @7 FAA IR 1204 B 9N @ &9 AT AW

Caie |
ans K1 2748
« 2 3850
X 3 3816
X 4 3765
Question ID : 94891115018
Option 11D : 94891160071
Option 2 ID : 94891160070
Option 31D : 94891160072
Option 4 ID : 94891160069
Status : Answered
Chosen Option : 2
Q.33 afy 6 ver qoiet 1 3itwe 45 ¥ 3t 37 6 Tt F & TEw o Ak T O T A AR 18
A &7 6 Yoiierl F ¥ FEH B Ui F1 ~qedH BHIET A 719 Hriewl
Ans of 130
X 2 31
<3 29
X4 27
Question ID : 94891115032
Option 11D : 94891160125
Option 21D : 94891160128
Option 31D : 94891160127
Option 4 ID : 94891160126
Status : Answered
Chosen Option : 2
Q3% Ifreh aufamer & a0 ¥ 174 2eR F € 3R 637 W FiT @
Ans  of 1 W
KX2D
X3 U
X445
Question ID : 94891115100
Option 11D : 94891160400
Option 21D : 94891160398
Option 31D : 94891160399
Option 41D : 94891160397
Status : Answered

Chosen Option :

1




8’ 20 16
Ans 45
vz
16
X2 =
3
X 3 i
9
X 4 —

2 2 e F TgeaA FAEE (LCM) 71 AifFw)

Question ID
Option 11D
Option 2 1D
Option 31D

Status

: 94891115011
: 94891160044
: 94891160042
: 94891160043
Option 41D :

94891160041

: Answered
Chosen Option :

1

¥ CRRe § ¥ 7 o 9w F o s B

s X1 FrAferse (Camotite)
X 2 gREaAES (Torbernite)
X 3. Pgees (Pitchblende)

v 4 ArTaTEe (Monazite)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891115055
94891160219
94891160218
94891160217
94891160220
Answered

4




Q.37 48
AL 6 TH T FHUT § AR tand = —_ &, o cosecd FH HI A ATl

Ans 732
X =
55
13
2 =
48
48
3 s
73
hh
y Y i
48
Question ID : 94891115031
Option 11D : 94891160124
Option 21D : 94891160122
Option 31D : 94891160123
Option 4 1D : 94891160121
Status : Answered
Chosen Option : 2
Q38 PrAmmer AF (Komagata Maru) T arsqefFaeTerg STeranT o)
Ans x
1. FHeATETE
v 2 FrEE
X fafeer
X 4 T
Question ID : 94891115051
Option 11D : 94891160204
Option 21D : 94891160203
Option 31D : 94891160201
Option 4 1D : 94891160202
Status : Answered
Chosen Option : 2




Q.39 =T (ISRO) ¥ TR 379g ie-29 (GSAT-29) & wEMT T 38 3=7 (& FAY & A7 F4 ¢,
St g FEEER # oy s SroafafiEt $ GerEr we § a3

A X1 uE 3E (Third Eye)
X 2 5 =9 (Geo Vision)
X 3. 5T 8% (Geo Rakshak)
v+ ST 32 (Geo Eye)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891115063
94891160251
94891160249
94891160252
94891160250
Answered

1

Q.40 =fy Fer Fwast F FETE 4 0 31 8 ¥ 3N A ¥ T O Fo 42 }, O waw w9 FE W

FifaT)
ans X196
v 2 112
X3 104
X 4120
Question ID : 94891115015
Option 11D : 94891160057
Option 2 1D : 94891160059
Option 31D : 94891160058
Option 4 1D : 94891160060
Status : Answered
Chosen Option : 2
Q41 e, i ATHF F=d $T AT & V9FT, FA ATHE A=GT a7 AT ¥ B¥er ¥ FId o o= - [
3 et § g, temwt Fr 38 ¥ e @ ify ¥ T gEw 2
ans X1 gy
VES o)
X 3 =g FT =T
X 4 7T Fr ggT
Question ID : 94891115080
Option 11D : 94891160317
Option 21D : 94891160320
Option 31D : 94891160318
Option 4 1D : 94891160319
Status : Answered
Chosen Option : 2




Q.42 6 9 3 x = wgTA FATE (LCM) 72 #1 Rw 71w Rerest # & &l @1 x & @afaa A1 @1 F@owaw

&2
a1 36
X212
X318
v 4 24
Question ID : 94891115007
Option 11D : 94891160028
Option 21D : 94891160025
Option 31D : 94891160026
Option 41D : 94891160027
Status : Answered
Chosen Option: 4
Q43 g= = A ¥ B % #r g 37 FE o 37 75% g, 60 km/h Fr T ¥ FT war § 3R 9w gl 40
km/h & 916 & a7 HT &1 T I F A 3HST AT T Bhaedr o2
Ans 1
v 1. 532 kmh
< 2 50 km/h
2
X 4 55 km/h
Question ID : 94891115023
Option 11D : 94891160092
Option 21D : 94891160089
Option 31D : 94891160091
Option 4 1D : 94891160090
Status : Answered
Chosen Option: 1
Q.44 :story’ is related to “Reader” in the same way as * is related to ‘Listener”.
Ans 1. Singer
/< 2. Lyrics
+ 3. Song
< 4 Dance
Question ID : 94891115075
Option 11D : 94891160299
Option 21D : 94891160298
Option 31D : 94891160300
Option 4 1D : 94891160297
Status : Answered
Chosen Option : 3




1-@ FT AT AT A=

Ans 4
X2
9
1
X2 Z
6
11
o s
36
1
r A W)
36
Question ID : 94891115006
Option 11D : 94891160023
Option 2 1D : 94891160024
Option 3 1D : 94891160021
Option 4 1D : 94891160022
Status : Answered
Chosen Option: 3
Q46 CrafafT eeal @ 3P ey F 3 FUTTT F FA & gateud &9
1) Retail 2) Remark 3) Reward 4) Remote 5) Revoke
ans K1 24135
v 2 24153
X 313245
< 4 42153
Question ID : 94891115083
Option 11D : 94891160332
Option 2 1D : 94891160329
Option 31D : 94891160331
Option 4 1D : 94891160330
Status : Answered
Chosen Option : 2




Q

Ans

X1.T_‘J§

v 2

X 3

§ 2|2 “lE

X4._?
2

.47
ﬂ‘ﬁ'sinﬂ—cusi?:? %, ar sinf + cosf = UATCHF AT AT FITAT|

Question ID : 94891115030
Option 11D : 94891160117
Option 21D : 94891160119
Option 31D : 94891160120

Option 41D : 94891160118
Status : Answered
Chosen Option: 4
.48
98 afe x 3T 36% = y F 81% &, & x : y & AT 7T A=)
Ans X 1.9 : 25
<281 :100
X34:9
vig:4
Question ID : 94891115014
Option 11D : 94891160055
Option 2 1D : 94891160056
Option 31D : 94891160053
Option 4 1D : 94891160054
Status : Answered
Chosen Option: 4
Q49 Which of the following is a herbicide?
Ans X 1. Aldrin
X 2 DDT
W3 24D
X 4 BHC
Question ID : 94891115043
Option 11D : 94891160172
Option 21D : 94891160169
Option 31D : 94891160171
Option 4 1D : 94891160170
Status : Answered
Chosen Option: 3




50 sy wfrerar F Wi F Fey # PwtaRa & ¥ ST @ wd @ 3

Ans

F 8

6137 Tl - Aaa $T Hg & 21 § T 18 IF HLelm

X 2 10131 WAl - IFg T AT & 9] HLAT

Xs
10297 §IF - TSET TASST 97 HET 7 GauTfaes =7 9 i
v
7281 Wt - R ST SRS H FUTAT 3 IEUT wA
Question ID : 94891115059
Option 11D : 94891160233
Option 21D : 94891160235
Option 31D : 94891160236
Option 41D : 94891160234
Status : Answered
Chosen Option : 4
Q51 37 g # 9ua #, S FEAtafEg Avh & gex e (?) F T WO e g
619, 656, 693, 730, ?
Ans X 1. 757
X 2. 787
'3 767
X4 777
Question ID : 94891115084
Option 11D : 94891160335
Option 21D : 94891160336
Option 31D : 94891160333
Option 4 1D : 94891160334
Status : Answered
Chosen Option : 3
.52
@52 ZfE 19 x 19 = 361 &, @ 190 x 0.0019 F H= # HfeT|
Ans X 1. 3.61
/< 2. 0.00361
X 3. 0.0361
v 4 0.361
Question ID : 94891115005
Option 11D : 94891160020
Option 21D : 94891160019
Option 31D : 94891160017
Option 41D : 94891160018
Status : Answered
Chosen Option : 4




0% zm grw @ I WY, S gARE a8 ¥ (Fere sk s Ruf))

¢ X1 AT sexeng - e
v 2 GRIET SETETE - IEE
X 3 FEAT SSTE - I

X 4 TP GGG - AHerAg

Question ID : 94891115069
Option 11D : 94891160276
Option 2 ID : 94891160274
Option 31D : 94891160273
Option 4 1D : 94891160275
Status : Answered
Chosen Option : 2
3 37 g w1 TE wY, S gAfE A ¥ (@S #& ) ¥g awm @ o))
Ans % +
X 1. ST WER 91 - FHeT F4
V' 2 FATYYT STFET I - HAHF FJaT
X3 fegdy amer - arefeely Fd
o .
g | -
X 4 RTSA HER aTeT FSUT Aar
Question ID : 94891115054
Option 11D : 94891160216
Option 2 ID : 94891160214
Option 31D : 94891160213
Option 4 1D : 94891160215
Status : Answered
Chosen Option : 2
Q.55 dmw # vF 16-Reda R st ¥ Svw 3w T wEt F B oo of & 31w, 59 AT
gy Fr 3R #= 8 o 3T gen 93, 3R oo afvmHeeeT sue sitwa e O ateAr 280 wE A
| A F 3ES o fhaer oo Ao R e
Ans 1. 23,760
X 2.3 750
o 3 23,840
X< 4 23,820
Question ID : 94891115029
Option 11D : 94891160115
Option 21D : 94891160113
Option 31D : 94891160114
Option 41D : 94891160116
Status : Answered
Chosen Option: 3




Q.56 A e e w1 # 14 ToF & 90w e §, FE0F B 3R 3H W A 21 G F W A wEar
¢l TEe 2 B 3Ree 0 ST &, At Ry o A 3R # war €, Ak 3w wfn s ot @ a%
S TR T e | H 9T g A g feew R 1 www @

Ans  of 1. 17
X220
<38
X 416
Question ID : 94891115022
Option 11D : 94891160087
Option 2 ID : 94891160088
Option 31D : 94891160085
Option 4 ID : 94891160086
Status : Answered
Chosen Option: 1
Q57 =3 ¥ e ‘aiferhrT sifERr (Nuclear Physics) & Siefe’ HTAT SiaT 27
Ans x 1. é’ a ﬁ
v g ETEE
X3 F OTHEA
X 4 Frew ST
Question ID : 94891115044
Option 11D : 94891160174
Option 2 1D : 94891160176
Option 31D : 94891160175
Option 41D : 94891160173
Status : Answered
Chosen Option : 2
Q.58 s i s s
few 1T orear & O 3999 &7 =0T FL)
Ans X 1981
< 2 636
X 3 749
v 4 868
Question ID : 94891115099
Option 11D : 94891160396
Option 21D : 94891160393
Option 31D : 94891160394
Option 4 1D : 94891160395
Status : Answered
Chosen Option : 4




Q.59

FoTT-1 399E 2
e o Alew Bee
X2 T

X 3 AfeEeE
X 4 FER
Question ID : 94891115062
Option 11D : 94891160245
Option 2 ID : 94891160246
Option 31D : 94891160248
Option 4 1D : 94891160247
Status : Answered
Chosen Option: 1
Q.60 :
T=ofea # ¥ Si9 91 Fu= 9ar 7e1 27
Ans . * *
V' 9SE 9RE 1 HEH 931 A 3cNee U7 g
X 2 3EA AT FT 98 F97 917 3c9EF U7 ¢l
X 3 ¥ AT FT TIY I @ 39EF T
X 4 3oay 92T HT FT TaH F27 TeaAl 3cageh =g %‘I
Question ID : 94891115070
Option 11D : 94891160280
Option 21D : 94891160279
Option 31D : 94891160277
Option 41D : 94891160278
Status : Answered
Chosen Option: 3
Q.61 ] B 2
feT 71T Rereal & @ TEr FuA F IUT FL|
Ans ; . +
v . TR RAT] Rega FE 3ear weU F B g
) . g .
X 2 Her A ¥Egd #g 7w wer A B g
3. hadcholH HliaEﬁlﬂ iaaaﬁ %a a:;!ﬂ T i%?.]a
x 2 2 ] ﬁ %-I
5 . .
X 4 ATEET GO UHS TET FEAF Y g F T g
Question ID : 94891115052
Option 11D : 94891160208
Option 2 ID : 94891160206
Option 31D : 94891160205
Option 4 1D : 94891160207
Status : Answered
Chosen Option: 3




Q.62 ‘Beetles’ is related to ‘Crawl’ in the same way as ‘Cows’ is related to L

Ans 1. Jump
< 2 Float
< 3. Moo
v 4 Walk
Question ID : 94891115074
Option 11D : 94891160294
Option 21D : 94891160296
Option 31D : 94891160293
Option 4 1D : 94891160295
Status : Answered
Chosen Option: 4
Q.63 :
F=ef@a F & =5 a1 sy @g F8
Ans ‘, 1.
HATSET =TT (ICJ) & =aramedter &7 FEF 9= 99 F 2T 2l
52
o T°g GIaT 9Rwg (UNSC) & 9T T18 Hed 2|
X 3. 3TUSET =T (ICJ) # dgg wgmareder g
X+ Fgad T (UN) & & 3o ST g
Question ID : 94891115065
Option 11D : 94891160258
Option 2 1D : 94891160257
Option 31D : 94891160260
Option 4 1D : 94891160259
Status : Answered
Chosen Option: 1
Q.64 :
fa=fafe & ¥ Fi7 7 Fue T 76 272
A .
"X TR TS F A 2 I 2014 g3 o
X 2
TSEAH 896t $r T ¥ 9IRT F T&d 937 T7 gl
v BERE & TSuET FIfgEr 8
X 4 oA 9T & 998 FH JJTETT JeT T7 ¢l
Question ID : 94891115057
Option 11D : 94891160225
Option 2 1D : 94891160227
Option 31D : 94891160226
Option 4 1D : 94891160228
Status : Answered
Chosen Option: 3




Q65 =3t ¥ fFY mART & WEROT FEER oty ¥ U A [WEER & FEAted G a3

Are X1 FfeE S v=aEw (Robert G Edwards)
X 2. Frer fsEET (Karl Landsteiner)

X 3. Ofer SexsT (Paul Lauterbur)

v 4 ATeE TH (Ronald Ross)

Question ID :

Option 11D
Option 2 ID
Option 31D

Status
Chosen Option

94891115037

: 94891160148
: 94891160145
: 94891160146
Option 41D :

94891160147

: Answered
1

Q.66 x% =1T¥F ATUROT =TS FY 2T 9T A F TS FE =, 6 A F FIHT 22,368 3T 11 ¥ F T

23,008 2 ST &1 x & AT AT ST

Ans x 1. 6
X25
X375
v+ 8
Question ID : 94891115020
Option 11D : 94891160077
Option 21D : 94891160079
Option 31D : 94891160080
Option 41D : 94891160078
Status : Answered
Chosen Option : 4
.67 e = ; : -
7 rmfafea o fawedt F @ omel ¥ 3T GHEE H AT H
Ans ﬂﬁ ﬁ . h
x 1. 1 “I a’i I: ,
X 2 e, ST WA, HET
v 3 g T, s Tee, 99 TEe
X 4 IO, FATSIATES, =T
Question ID : 94891115093
Option 11D : 94891160372
Option 21D : 94891160371
Option 31D : 94891160370
Option 41D : 94891160369
Status : Answered
Chosen Option : 2




e WREE T ¥
e X e wftEm

X 2. FAFAT I

X3 grer R g

A e

Question ID : 94891115073
Option 11D : 94891160290
Option 21D : 94891160289
Option 31D : 94891160291
Option 4 1D : 94891160292
Status : Answered
Chosen Option : 2
Q.69 Three positive integers, a, b, and ¢, are such that their average is 28 and a = b = c. If the median is (a — 16), then what is
the least possible value of c?
Ans X133
X232
X 3 35
W 4 34
Question ID : 94891115033
Option 11D : 94891160130
Option 2 ID : 94891160129
Option 31D : 94891160132
Option 41D : 94891160131
Status : Answered
Chosen Option : 2
Q.70 =R weg-g7A faw v &, A & &= R 9FW § WA §, FElF T WA g1 IS weE-gEA E
T FfFT
Ans XL AT ;AT
X 2 fegrar © g
v ¢ 3EaT AT
<4 afy  frrar
Question ID : 94891115094
Option 11D : 94891160375
Option 2 ID : 94891160374
Option 31D : 94891160373
Option 4 ID : 94891160376
Status : Answered
Chosen Option : 3




7! 66049 F TS AT Hfl

Ans 1. 253
v 2 257
< 3 283
X 4 267
Question ID : 94891115009
Option 11D : 94891160033
Option 2 ID : 94891160034
Option 31D : 94891160035
Option 4 ID : 94891160036
Status : Answered
Chosen Option : 1
Q.72 g oiEt e S AN FWT ARG FEw wiafg & e & fFar amar am
Ans x 1 :ﬂm’
X 2 wmElt
v wiE
X 4. Folehedl
Question ID : 94891115048
Option 11D : 94891160192
Option 21D : 94891160189
Option 31D : 94891160191
Option 4 ID : 94891160190
Status : Answered
Chosen Option : 2
Q73 ofy + @ 3w wwr, = & HT O, x N HT ST AR # o wmenw §
72 + 8-3 X 6 + 2 & AW A T
Ans x 1.9
X227
v 3 31
X 471
Question ID : 94891115101
Option 11D : 94891160403
Option 2 ID : 94891160402
Option 31D : 94891160401
Option 4 1D : 94891160404
Status : Answered
Chosen Option : 3




U7 5@ gIE W wEe WY, S gARe A8 ¥ (e ARk sad Tl

e XK. dereifame AeEYe - Helden
v 2 FHTEEIT HSEUS - SR
X o TERT FETYUS - INFERT FgedT
X 4 Iz Beafmr ey - e

Question ID : 94891115056
Option 11D : 94891160224
Option 21D : 94891160222
Option 31D : 94891160223
Option 41D : 94891160221
Status : Answered
Chosen Option : 2
Q.75 ¢
T FaT FHieT & enfFrer g B
Ans : )
X 1.1 kg FET SEHFEEE
i
V21000 kg e STEHTFATSE
X 3 100 kg FE SEIHFATES
X 410 kg Fe SEHFAES
Question ID : 94891115064
Option 11D : 94891160253
Option 21D : 94891160256
Option 31D : 94891160255
Option 41D : 94891160254
Status : Answered
Chosen Option: 1
Q.76 +
fTw 71T oas F g SIS
125 =5 =b x §
Ans x 1. 1
X25
< 3 625
v 4 25
Question ID : 94891115004
Option 11D : 94891160013
Option 21D : 94891160014
Option 31D : 94891160016
Option 4 1D : 94891160015
Status : Answered
Chosen Option : 4




@77 arer 9=t (Red Panda) #r gfcaar @Er B
Ans xm Eﬁg

X 2 Sty

VER- -

X 4 Foer

Question ID : 94891115041
Option 11D : 94891160164
Option 21D : 94891160162
Option 31D : 94891160161
Option 4 1D : 94891160163
Status : Answered
Chosen Option: 3
Q78 WWhich noble gas is radioactive in nature?
Ans 1. Krypton
/< 2. Neon
/< 3. Argon
« 4 Radon
Question ID : 94891115042
Option 11D : 94891160168
Option 2 ID : 94891160165
Option 31D : 94891160166
Option 4 ID : 94891160167
Status : Answered
Chosen Option : 1
Q.79 zfy frdr T= ¥ 28% FT AT 20 F TR &, o 3@ TEAT F 49% FT AT AF HATI
as K1 42
X2 385
X 3 455
v 35
Question ID : 94891115016
Option 11D : 94891160063
Option 21D : 94891160061
Option 31D : 94891160062
Option 4 1D : 94891160064
Status : Answered
Chosen Option : 4




Q.80

el ATSeITe T Faelieh Tehcdlall &I 87
Ans of 1. 196 °C

X 2152 °C
X 327 T
X 42730
Question ID : 94891115046
Option 11D : 94891160183
Option 21D : 94891160182
Option 31D : 94891160181
Option 4 1D : 94891160184
Status : Answered
Chosen Option : 4
81 3 3 5 g
= 3T - & Fgcdd FAMEAH (HCF) #1d HiEw]
Ans 1
I 1.0
72
XKoo
12
p R
24
1
v —
12
Question ID : 94891115010
Option 11D : 94891160040
Option 2 ID : 94891160038
Option 31D : 94891160039
Option 4 ID : 94891160037
Status : Answered
Chosen Option: 4




Q.82 A sy fordl 18 1 30 R H 9 T THaT €, SlH B 3w 3 w1 B 52 e F q; FW FomAr

1 2=t F Ty e w1 T o S, 9w A 3 I 0 i ¥ 3 Re e e o R gt
& o faF a% = w5 e

Ans X 1.20
X2 192
7
V3 21
X+ 202
3
Question ID : 94891115021
Option 11D : 94891160084
Option 21D : 94891160082
Option 31D : 94891160081
Option 4 1D : 94891160083
Status : Answered
Chosen Option: 3
Q08 Crafafm & ¥ BFFwe {200 T9T & aREw Ae | AT G §
Ans hd
V' RN FHOET
X 2. TART & BT
X 3 arer fFe
X 4 FaTeraTe
Question ID : 94891115058
Option 11D : 94891160232
Option 21D : 94891160230
Option 3 1D : 94891160229
Option 4 1D : 94891160231
Status : Answered
Chosen Option: 1
Q.84 . s+ . "
TR # O &g BT & 9T A1 J487 82
Ans x 1 -.:-ﬁ
2 AR
< 3. grgoTdET
X o TR
Question ID : 94891115039
Option 11D : 94891160154
Option 21D : 94891160156
Option 31D : 94891160153
Option 4 1D : 94891160155
Status : Answered

Chosen Option :

1




Q.85 faw 7w Fuwt 3R forewst F CwAEE W FUA F & TE FEHG F T FAS g AR A, 0§

Ans

Tg AT A dE § e g g @ sk saw o s @ ST § e gt @ & wuer
FT O Y &7

EEN

FE of o gl w6 R

X T A

sy

i X grir 7 &

ii. X e gTelr & Hee &

X 1. el i 9TerT T B
X2 garisa & ii g F1ar gl
V'3 FHEe | 9T FLaT B

X4 i 3T i @ gTead A 2

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status
Chosen Option

94891115079
94891160316
94891160314
94891160313
94891160315

: Answered
03

Q86 =g ug @ T #, St AEAterRd AN F TeT REA (7) F TAA W 3T TFEAT B

Ans

AZ, CX, GT, 1
< 1. DW
v 2 MN

X3 LO
24 NM

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891115089
94891160353
94891160356
94891160354
94891160355
Answered

2




Q.87 = Rafirsz gz s A, STAR = 3782 frar =mam # 3T PLANE ® 51894 formm =mar &, & =2 ¢

oo # SALE & fw g B seen?

ans X 1. 3418
< 2. 3841
V'3 3814
< 4 3148
Question ID : 94891115090
Option 11D : 94891160360
Option 21D : 94891160359
Option 31D : 94891160358
Option 4 1D : 94891160357
Status : Answered
Chosen Option: 3
Q88 P, Q R, S Tauw U, et # #R g FF T dfed # 35 & (37 58 A A g wferd 4§
P, S % % 3T gy ™o W AT U ¥ % 3R 8y 2 X 897 &1 R @7 Q & &1 & &aaf ar
=FaT 35 &1 Q, S T = 7@ g
P ¥ % 3T &F a9 & FiF = 7
ae X1 S
X2 R
X3 Q
vioT
Question ID : 94891115091
Option 11D : 94891160364
Option 21D : 94891160361
Option 31D : 94891160362
Option 4 1D : 94891160363
Status : Answered
Chosen Option: 4
Q.89 . e
R F T T I TETE, S FHET F TR
Ans o 1 FHRGETEAT
X2 W
X 3. Tl
X a4 §ﬂ3|5|
Question ID : 94891115092
Option 11D : 94891160368
Option 2 ID : 94891160365
Option 31D : 94891160367
Option 4 ID : 94891160366
Status : Answered

Chosen Option :

1




Q.90 37 pRrEPT 9T # 9T W, 5 BeAtated g@er # 9o REa (2) F TS W 3§ ¥
Z63C, X31F, V15l, T7L, R30, ?

as of 1 P1R
X2 Q2R
X3 P13
X+ QIR

Question ID : 94891115088
Option 11D : 94891160351
Option 21D : 94891160350
Option 31D : 94891160349
Option 4 ID : 94891160352
Status : Answered
Chosen Option: 1

Q.91 37 fyereq #1 907 &L, =1 = QT a0 g Fy=r - 3wy (A) i #r0T (R), F d9g F 78 &
A. TG AR S =T S FT I g gl
R o @nl ¥ G F &1 T2 @ 2
Me XA T § A R e
X 2
'A' 3T 'R 2= @ § A R, A #Y TEr earEr gl
X3 A 3T R g T
v
'A' AT 'R 3= "@er €, afFT 'R, A Fr wEr carEar 7T 2

Question ID : 94891115082
Option 11D : 94891160327
Option 21D : 94891160325
Option 31D : 94891160328
Option 4 1D : 94891160326
Status : Answered
Chosen Option: 4




Q92 =7 Reew #1 =a= #Y, e Sl FE= ¥ 74 FEY B, S gE0 TEA F e T F ¥
179 : 971 : 284 : ?
ans X1 480
< 2. 281
X< 3. 842
v 482

Question ID : 94891115096
Option 11D : 94891160383
Option 2 ID : 94891160381
Option 31D : 94891160382
Option 4 ID : 94891160384
Status : Answered
Chosen Option: 4

Q.93 37 frweT &1 907 #Y, A I BT a0 @ FuAr - dA¥Eva (A) X FROT (R), F wET F @G R
A. 3T TE @ E
R. 77 =¥ 7@ Fr afierar & F &
Ans ‘,1
'‘A' 3T 'R g TEr § AR R, A T mEr carE gl
X 2
'A' 3T 'R 3T "@ET €, ofeT 'R, A’ Fr TEr arEm 76T 2
X3 A 3T 'R @ e E
X4 A T, 9fFa R Iea g

Question ID : 94891115081
Option 11D : 94891160321
Option 2 ID : 94891160322
Option 31D : 94891160324
Option 4 ID : 94891160323
Status : Answered
Chosen Option : 2




Q.94 37 w-meg # 9O F, O AT WA F WY S ey §, S g EN-UNE T UEe M-

TEE @ B
LQRT : DIJL :: OYZD : ?
ans X1 HQRA
v 2 GQRV
< 3 LUWR
< 4 DOPU
Question ID : 94891115076
Option 11D : 94891160304
Option 21D : 94891160301
Option 31D : 94891160303
Option 4 1D : 94891160302
Status : Answered
Chosen Option : 2
Q95 3w v FT F AN w@E, Fo I AR o orew W 1 it Fr ww=m, e frowwr
Tw-tng & st ¥ B 7 A argat S o g 49 ¥ & 5w o e 9§
Ans  of 136
X224
X316
X 420
Question ID : 94891115103
Option 11D : 94891160412
Option 2 ID : 94891160411
Option 31D : 94891160409
Option 4 ID : 94891160410
Status : Answered
Chosen Option : 1
.96 £ b
% ofy Afed T B A FoF & A AT F A § F TG 2
A X1 o
X2 Rar & g
v Tar & Rar
X4 A & far
Question ID : 94891115098
Option 11D : 94891160391
Option 21D : 94891160392
Option 31D : 94891160389
Option 4 1D : 94891160390
Status : Answered
Chosen Option: 3




Q.97 ar wew-wag RE o §, Ged @ 9 B gen @ oo § TS v s ¥ HueE se-Tag

Ans

IO HiET)

v 1. EHK
X 2 BDF
< 3 GIK
X 4 PRT

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status:

Chosen Option :

94891115095
94891160379
94891160377
94891160378
94891160380
Answered

1

Q.98 & =% Fwen # U ¥ 98 A A RBE 7T 99T @ 3ea &

Ans

A, B, C, D 3T E 9= wi=fal £ 3egil I 3eA9T-3{elT =T 3ca7 9891, e 9eul, 3INEs, fEn 3k
Hifger & ot ¥ ady Fr ¥, e S =@ w5 A e sfEe a8 §) wsh ar=t omet # cgea
o gt ¥

D #r e SeeT § 5% ¥, B T U I WU F W ufed § §¥ ¢, I A T At A g1 E
AR T IS F L R T aRE T rT R A I C T Ry aRa d mr &r A
TATae &, 9% BER o ||s ¥ a6 2

A F T & oy i
X s
X 2 3fEem
v o FeT geer
X 4 fagr
Question ID
Option 11D
Option 21D :
Option 31D
Option 41D :
Status :
Chosen Option :

1 94891115102
1 94891160406

94891160405

1 94891160407

94891160408
Answered
3




T Tl Fd 27
T

wefr g ey &
Tt wex o §
s

i. FT 9% X g

i. F5 FeT @1 #

Ane X 3 i ST gTee R §
X2 grgri o ii 9Tl LT 2l
vigarishta&ii oo Far g

X 4 FFer | Il FIT gl

Q.99 faw 7w Fuwt IR et F TS | FUA F & TE FEHG BT FAS g0 R A, 0§
T WA A ad § Fed w6 a @ g AR FaT B s § FiF & ey aoapr @ 7 Fue

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891115078
94891160311
94891160309
94891160310
94891160312
Answered

3

848, 969, 2, 1282, 1478
Ans 11000
v 21113
#3999
< 41013

Q.100 37 Fwar & IO FY, S WEASRT AU F geF S (?) F THE W T THAr ¥

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891115085
94891160339
94891160337
94891160340
94891160338
Answered

2
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